Electronic Journal of Differential Equations, Vol. 2019 (2019), No. 86, pp. 1–19. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu

MULTIPLE POSITIVE SOLUTIONS FOR SCHRÖDINGER-POISSON SYSTEMS INVOLVING CONCAVE-CONVEX NONLINEARITIES

HAINING FAN

ABSTRACT. In this article, we study the existence of multiple positive solutions for Schrödinger-Poisson systems involving concave-convex nonlinearities and sign-changing weight potentials. With the help of Nehari manifold and Ljusternik-Schnirelmann category theory, we investigate how the coefficient g(x) of the critical nonlinearity affects the number of positive solutions. Furthermore, we obtain a relationship between the number of positive solutions and the topology of the global maximum set of g.

1. INTRODUCTION

In present article, we study the existence of multiple positive solutions to the Schrödinger-Poisson system

$$-\Delta u + l(x)\phi u = f_{\lambda}(x)u^{q-1} + g(x)u^5, \quad x \in \Omega,$$

$$-\Delta \phi = l(x)u^2, \quad x \in \Omega,$$

$$\phi = u = 0, \quad x \in \partial\Omega,$$

(1.1)

where $\Omega \subset \mathbb{R}^3$ is a bounded domain with smooth boundary and 1 < q < 2. Moreover, l and g are continuous functions on $\overline{\Omega}$. The function $f_{\lambda}(x) = \lambda f_+ + f_-$, where $\lambda > 0$ is a small parameter and $f_{\pm} = \pm \max\{\pm f(x), 0\}$.

In recent years, the nonlinear Schrödinger-Poisson system

$$\Delta u + V(x)u + l(x)\phi u = f(x, u),$$

$$-\Delta \phi = l(x)u^{2},$$
(1.2)

has been widely investigated and it is well known that it has a strong physical meaning because they appear in quantum mechanics models (see [4, 18]) and in semiconductor theory [19, 21]. In particular, system (1.2) was introduced in [2, 3] as a model describing solitary waves, for nonlinear stationary equations of Schrödinger type interacting with an electrostatic field, and are usually known as Schrödinger-Poisson systems. We refer to [2] for more details on physical aspects. Many researches have been devoted to the study of (1.2) in the recent literature, see for example, [12, 13, 15, 22, 23, 25] and the references therein.

²⁰¹⁰ Mathematics Subject Classification. 35A15, 35B33, 35J62.

Key words and phrases. Multiple positive solutions; Schrödinger-Poisson system; critical Sobolev exponent; Nehari manifold; Ljusternik-Schnirelmann category. ©2019 Texas State University.

Submitted July 24, 2018. Published July 16, 2019.

On a bounded domain, Azzollini [1] studied the Schrödinger-Poisson system

H. FAN

$$-\Delta u + \varepsilon q \phi f(u) = \eta |u|^{p-1}, \quad x \in \Omega,$$

$$-\Delta \phi = 2qF(u), \quad x \in \Omega,$$

$$\phi = u = 0, \quad x \in \partial\Omega,$$

(1.3)

where $\Omega \subset \mathbb{R}^3$ is a bounded domain with smooth boundary $\partial\Omega$, 1 , <math>q > 0, $\varepsilon, \eta = \pm 1, f : \mathbb{R} \to \mathbb{R}$ is a continuous function and $F(t) = \int_0^t f(s) ds$. By using the method of a cut-off function and variational arguments, the authors proved the existence and multiplicity results based on f a subcritical growth condition and they also considered the existence and nonexistence results under the critical case. Recently, Lei et al. [14] considered the Schrödinger-Poisson system

$$-\Delta u + \lambda \phi u = \lambda u^{q-1} + u^5, \quad x \in \Omega,$$

$$-\Delta \phi = u^2, \quad x \in \Omega,$$

$$\phi = u = 0, \quad x \in \partial\Omega,$$

(1.4)

where $\Omega \subset \mathbb{R}^3$ is a bounded domain with smooth boundary and $\lambda > 0$ is a real parameter, 1 < q < 2. By using the Ekelands variational principle and the Mountain Pass Theorem, they proved that (1.4) has at least two positive solutions provided λ enough small.

Under the assumption $l(x) \neq 0$, (1.1) can be regarded as a perturbation problem of the problem

$$-\Delta u = f_{\lambda}(x)u^{q-1} + g(x)u^5, \quad x \in \Omega,$$

$$u = 0, \quad x \in \partial\Omega,$$

(1.5)

It is well known that the existence of positive solutions of (1.5) is affected by the topology of the global maximum set of g. This has been the focus of a great deal of research by several authors. In particular, f_{λ} and g satisfy the following assumptions:

(A1) There exist k points a^1, a^2, \ldots, a^k in Ω such that

$$g(a^{i}) = \max_{x \in \Omega} g(x) = 1 \text{ for } 1 \le i \le k,$$

and for a positive number ρ with $\rho > 3$ such that $g(x) - g(a^i) = O(|x - a^i|^{\rho})$ as $x \to a^i$ uniformly in *i*.

(A2) Choosing $\rho_0 > 0$ such that

$$\overline{B_{\rho_0}(a^i)} \bigcap \overline{B_{\rho_0}(a^j)} = \emptyset \quad \text{for } i \neq j \text{ and } 1 \leq i, j \leq k,$$

and $\bigcup_{i=1}^k \overline{B_{\rho_0}(a^i)} \subset \Omega$, where $\overline{B_{\rho_0}(a^i)} = \{x \in \mathbb{R}^3; |x - a^i| \leq \rho_0\}.$

(A3)
$$f_{\lambda}(x), g(x) > 0$$
 for $x \in \bigcup_{i=1}^{k} \overline{B_{\rho_0}(a^i)}$.

Fan [6] proved that (1.5) admits at least k + 1 positive solutions when f_{λ} is small enough. Lin [20] Li and Wu [16] also proved a similar result. There are several generalizations of this result, we refer to [7, 8, 17].

A natural question now is whether the same existence results as [15-20] occur for problem (1.1). Motivated by this idea, we aim to investigate how the coefficient g(x) of the critical nonlinearity affects the number of positive solutions of (1.1) in this work. We consider the relationship between the number of positive solutions and the topology of global maximum set of g by the idea of category. Moreover,

we should point out that the appearance of the poisson equation prevents us from using the variational methods that used in [6, 7, 8, 16, 17, 20] in a standard way.

To state our main result, we introduce precise conditions on l, f_λ and g:

- (A4) l(x), g(x) > 0 on Ω .
- (A5) There exist a non-empty closed set $M = \{z \in \overline{\Omega} : g(z) = \max_{x \in \overline{\Omega}} g(x) = 1\}$ and a positive number $\rho > 3$ such that $g(z) - g(x) = O(|x - z|^{\rho})$ as $x \to z$ and uniformly in $z \in M$.
- (A6) $f_{\lambda}(x) > 0$ for $x \in M$.

Remark 1.1. Let $M_r = \{x \in \mathbb{R}^3; dist(x, M) < r\}$ for r > 0. Then by (A4)–(A6), there exist $C_0, r_0 > 0$ such that

$$f_{\lambda}(x) > 0, \quad \forall x \in M_{r_0} \subset \Omega,$$

$$g(z) - g(x) \le C_0 |x - z|^{\rho} \quad \forall x \in B_{r_0}(z)$$

uniformly in $z \in M$, where $B_{r_0}(z) = \{x \in \mathbb{R}^3 : |x - z| < r_0\}.$

The main result of this work in the following theorem.

Theorem 1.2. Assume (A4)–(A6) hold. Then for each $\delta < r_0$, there exists $\Lambda_{\delta} > 0$ such that if $\lambda \in (0, \Lambda_{\delta})$, (1.1) has at least $\operatorname{cat}_{M_{\delta}}(M) + 1$ distinct positive solutions, where cat means the Ljusternik-Schnirelmann category (see [24]).

Remark 1.3. Suppose (A1)–(A3) hold. By Theorem 1.2, we obtain that (1.1) has at least k + 1 positive solutions when λ is small enough.

Remark 1.4. Suppose $l(x) = f(x) \equiv \lambda$ and $g(x) \equiv 1$, Then Theorem 1.2 is the result of the recent paper [14]. We should point out that the condition that l(x) is small enough is important in [14]. However, we do not need this condition due to our precise estimates in this paper. Moreover, we assume that $f_{\lambda}(x)$ maybe sign-changing in this work. Lei and Suo obtained that (1.1) has at least two positive solutions in [14], while we will obtain a relationship between the number of positive solutions and the topology of global maximum set of g in this paper.

This article is organized as follows. In Section 2, we give some preliminary results and obtain the first positive solution of (1.1). In Section 3, we present some technical results and useful estimates which are crucial in the proof of Theorem 1.2. In Section 4, we use the Ljusternik-Schnirelmann category theory to prove Theorem 1.2. Throughout this paper we denote by \rightarrow (resp. \rightharpoonup) the strong (resp. weak) convergence. We will use C, C_0, C_1, C_2, \ldots to denote various positive constants.

2. Preliminaries

Throughout this article by $|\cdot|_r$ we denote the L^r -norm. On the space $H_0^1(\Omega)$ we consider the norm

$$||u|| = \left(\int_{\Omega} |\nabla u|^2 dx\right)^{1/2}$$

Let S be the best Sobolev constant of the embedding $H^1_0(\Omega) \hookrightarrow L^6(\Omega)$ given by

$$S := \inf \left\{ \int_{\Omega} |\nabla u|^2 dx; u \in H_0^1(\Omega), |u|_6 = 1 \right\}.$$

It is well known that S is independent of Ω and is never achieved except when $\Omega = \mathbb{R}^3$. Moreover, S is achieved by the function

H. FAN

$$v_{\varepsilon}(x) = \frac{(3\varepsilon)^{1/4}}{(\varepsilon + |x|^2)^{1/2}}, \quad \text{for any } \varepsilon > 0.$$
(2.1)

We obtain that

$$\int_{\mathbb{R}^3} |\nabla v_{\varepsilon}|^2 dx = \int_{\mathbb{R}^3} |v_{\varepsilon}|^6 dx = S^{3/2}.$$
(2.2)

For every $u \in H_0^1(\Omega)$, the Lax-Milgram theorem implies that there exists a unique solution $\phi_u \in H^1_0(\Omega)$ for the second equation of (1.1). We substitute ϕ_u into the first equation of (1.1), then (1.1) transforms into the equation

$$-\Delta u + l(x)\phi_u u = f_\lambda(x)u^{q-1} + g(x)u^5, \quad x \in \Omega,$$

$$u = 0, \quad x \in \partial\Omega,$$

(2.3)

We can easily proved that $(u, \phi) \in H_0^1(\Omega) \times H_0^1(\Omega)$ is a solution of (1.1) if and only if u solves (2.3) and $\phi = \phi_u$. The energy functional associated with (2.3) is defined by

$$J_{\lambda}(u) = \frac{1}{2} \|u\|^{2} + \frac{1}{4} \int_{\Omega} l(x)\phi_{u}u^{2}dx - \frac{1}{q} \int_{\Omega} f_{\lambda}(x)|u|^{q}dx - \frac{1}{6} \int_{\Omega} g(x)|u|^{6}dx.$$

Moreover, if $u \in H_0^1(\Omega)$ is called a weak solution of (2.3), then (u, ϕ_u) is a solution of (1.1) and

$$\langle J_{\lambda}'(u), v \rangle = \int_{\Omega} \nabla u \nabla v \, dx + \int_{\Omega} l(x) \phi_u uv \, dx - \int_{\Omega} f_{\lambda}(x) u^{q-1} v \, dx - \int_{\Omega} g(x) u^5 v \, dx = 0$$

for all $v \in H_0^1(\Omega)$. At first, we introduce the following lemma (see [2, 14]).

Lemma 2.1. For every $u \in H_0^1(\Omega)$, there exists a unique $\phi_u \in H_0^1(\Omega)$ solution of

$$\Delta \phi = l(x)u^2, \quad x \in \Omega$$

$$\phi = 0, \quad x \in \partial \Omega,$$

and

(i)
$$\|\phi_u\|^2 = \int_{\Omega} l(x)\phi_u u^2 dx.$$

- (ii) $\phi_u \ge 0$. Moreover, $\phi_u > 0$ when $u \ne 0$.
- (iii) For each $t \neq 0$, $\phi_{tu} = t^2 \phi_u$. (iv) $\int_{\Omega} l(x) \phi_u u^2 dx = \|\phi_u\|^2 \le S^{-1} |u|_{12/5}^4$.
- (v) Assume that $u_n \rightharpoonup u$ in $H^1_0(\Omega)$, then $\phi_{u_n} \rightarrow \phi_u$ in $H^1_0(\Omega)$ and

$$\int_{\Omega} l(x)\phi_{u_n}u_n v\,dx \to \int_{\Omega} l(x)\phi_u u v\,dx$$

for every $v \in H_0^1(\Omega)$.

(vi) Set $L(u) = \int_{\Omega} l(x) \phi_u u^2 dx$ then $L : H_0^1(\Omega) \to H_0^1(\Omega)$ is C^1 and

$$\langle L'(u), v \rangle = 4 \int_{\Omega} l(x) \phi_u u v dx, \quad \forall v \in H^1_0(\Omega)$$

As J_{λ} is not bounded from below on $H_0^1(\Omega)$, we consider the behaviors of J_{λ} on the Nehari manifold

$$N_{\lambda} := \{ u \in H_0^1(\Omega) \setminus \{0\} : \langle J_{\lambda}'(u), u \rangle = 0 \},$$

$$||u||^{2} + \int_{\Omega} l(x)\phi_{u}u^{2}dx = \int_{\Omega} f_{\lambda}(x)|u|^{q}dx + \int_{\Omega} g(x)|u|^{6}dx.$$
(2.4)

On the Nehari manifold N_{λ} , by (2.4), Sobolev and Young inequalities, it follows

$$J_{\lambda}(u) = J_{\lambda}(u) - \frac{1}{4} \langle J_{\lambda}'(u), u \rangle$$

$$= \frac{1}{4} ||u||^{2} + \frac{1}{12} \int_{\Omega} g(x)|u|^{6} dx - \left(\frac{1}{q} - \frac{1}{4}\right) \int_{\Omega} f_{\lambda}(x)|u|^{q} dx$$

$$\geq \frac{1}{4} ||u||^{2} - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) C|f_{+}|_{\infty} ||u||^{q}$$

$$\geq \frac{1}{4} ||u||^{2} - \frac{1}{4} ||u||^{2} - D\lambda^{\frac{2}{2-q}}$$

$$= -D\lambda^{\frac{2}{2-q}},$$

(2.5)

where D denotes a positive constant independent of $u \in H_0^1(\Omega)$. Let

$$\psi_{\lambda}(u) := \langle J_{\lambda}'(u), u \rangle = \|u\|^2 + \int_{\Omega} l(x)\phi_u u^2 dx - \int_{\Omega} f_{\lambda}(x)|u|^q dx - \int_{\Omega} g(x)|u|^6 dx.$$
(2.6)

Then for $u \in N_{\lambda}$, we have

$$\langle \psi_{\lambda}'(u), u \rangle = 2 ||u||^{2} + 4 \int_{\Omega} l(x) \phi_{u} u^{2} dx - q \int_{\Omega} f_{\lambda}(x) |u|^{q} dx - 6 \int_{\Omega} g(x) |u|^{6} dx$$

$$= (4 - q) \int_{\Omega} f_{\lambda}(x) |u|^{q} dx - 2 ||u||^{2} - 2 \int_{\Omega} g(x) |u|^{6} dx$$

$$= (2 - q) ||u||^{2} + (4 - q) \int_{\Omega} l(x) \phi_{u} u^{2} dx + (q - 6) \int_{\Omega} g(x) |u|^{6} dx.$$

$$(2.7)$$

As in [6, 7, 8, 9, 16, 20], we split N_{λ} into three parts:

$$\begin{split} N_{\lambda}^{+} &= \{ u \in N_{\lambda}; \langle \psi_{\lambda}'(u), u \rangle > 0 \}, \\ N_{\lambda}^{0} &= \{ u \in N_{\lambda}; \langle \psi_{\lambda}'(u), u \rangle = 0 \}, \\ N_{\lambda}^{-} &= \{ u \in N_{\lambda}; \langle \psi_{\lambda}'(u), u \rangle < 0 \}. \end{split}$$

Then we have the following results.

Lemma 2.2. Suppose that u_0 is a local minimizer for J_{λ} on N_{λ} and $u_0 \notin N_{\lambda}^0$. Then $J'_{\lambda}(u_0) = 0$.

Proof. If u_0 is a local minimizer for J_{λ} on N_{λ} , then u_0 is a solution of the optimization problem

minimize
$$J_{\lambda}(u)$$
 subject to $\{u \in H_0^1(\Omega) \setminus \{0\}; \psi_{\lambda}(u) = 0\}.$

Hence by the theory of Lagrange multipliers, there exists a $\theta \in \mathbb{R}$ such that $J'_{\lambda}(u_0) = \theta \psi'_{\lambda}(u_0)$ in H^{-1} . Thus $\langle J'_{\lambda}(u_0), u_0 \rangle = \theta \langle \psi'_{\lambda}(u_0), u_0 \rangle$. Moreover, because of $u_0 \notin N^0_{\lambda}$, we obtain $\langle \psi'_{\lambda}(u_0), u_0 \rangle \neq 0$, and so $\theta = 0$.

Motivated by Lemma 2.2, we will obtain conditions for $N_{\lambda}^0 = \emptyset$.

Lemma 2.3. There exists $\Lambda_1 > 0$ such that $N^0_{\lambda} = \emptyset$ for $\lambda \in (0, \Lambda_1)$.

Proof. Suppose that $N_{\lambda}^{0} \neq \emptyset$ for all $\lambda > 0$. If $u \in N_{\lambda}^{0}$, then from (2.6)-(2.7) and Sobolev inequality, we obtain

$$2\|u\|^{2} \leq 2\|u\|^{2} + 2\int_{\Omega} g(x)|u|^{6}dx = (4-q)\int_{\Omega} f_{\lambda}(x)|u|^{q}dx \leq \lambda(4-q)CS^{-\frac{q}{2}}\|u\|^{q}$$
 and

ar

$$\|u\|^2 \le \frac{6-q}{2-q} \int_{\Omega} g(x) |u|^6 dx \le \frac{6-q}{2-q} S^{-3} \|u\|^6.$$

Thus we obtain

$$C_1 \le \|u\| \le \lambda^{\frac{1}{2-q}} C_2,$$

where $C_1, C_2 > 0$ and are independent of the choice of u and λ . For λ is sufficient small, this is a contradiction. Hence, there exists $\Lambda_1 > 0$ such that for $\lambda \in (0, \Lambda_1)$, we have $N_{\lambda}^0 = \emptyset$. \square

Now we can write $N_{\lambda} = N_{\lambda}^+ \cup N_{\lambda}^-$ and define $\alpha_{\lambda} = \inf_{u \in N_{\lambda}} J_{\lambda}(u), \ \alpha_{\lambda}^+ = \inf_{u \in N_{\lambda}^+} J_{\lambda}(u)$ and $\alpha_{\lambda}^- = \inf_{u \in N_{\lambda}^-} J_{\lambda}(u)$.

Lemma 2.4. We have the following statements:

(i) $\alpha_{\lambda}^{+} < 0.$

(ii) there exists $\Lambda_2 \in (0, \Lambda_1)$ such that $\alpha_{\lambda}^- > d_0$ for some $d_0 > 0$ and $\lambda \in (0, \Lambda_2)$. In particular, $\alpha_{\lambda}^{+} = \inf_{u \in N_{\lambda}} J_{\lambda}(u)$ for all $\lambda \in (0, \Lambda_{2})$.

Proof. (i) Let $u \in N_{\lambda}^+$, then we have

$$(2-q)||u||^{2} + (4-q)\int_{\Omega} l(x)\phi_{u}u^{2}dx > (6-q)\int_{\Omega} g(x)|u|^{6}dx.$$

Thus,

$$\begin{split} J_{\lambda}(u) &= J_{\lambda}(u) - \frac{1}{q} \langle J_{\lambda}'(u), u \rangle \\ &= \left(\frac{1}{2} - \frac{1}{q}\right) \|u\|^2 + \left(\frac{1}{4} - \frac{1}{q}\right) \int_{\Omega} l(x) \phi_u u^2 dx + \left(\frac{1}{q} - \frac{1}{6}\right) \int_{\Omega} g(x) |u|^6 dx \\ &< \frac{q-2}{4q} \|u\|^2 + \frac{q-4}{4q} \int_{\Omega} l(x) \phi_u u^2 dx + \frac{6-q}{6q} \int_{\Omega} g(x) |u|^6 dx \\ &< -\frac{6-q}{12q} \int_{\Omega} g(x) |u|^6 dx < 0. \end{split}$$

Thus $\alpha_{\lambda} \leq \alpha_{\lambda}^+ < 0$.

(ii) Let $u \in N_{\lambda}^{-}$, then we obtain from (2.7) that

$$(2-q)||u||^{2} \leq (2-q)||u||^{2} + (4-q)\int_{\Omega} l(x)\phi_{u}u^{2}dx$$
$$< (6-q)\int_{\Omega} |u|^{6}dx \leq (6-q)S^{-3}||u||^{6}.$$

This implies

$$||u|| \ge \left(\frac{2-q}{6-q}S^3\right)^{1/4},\tag{2.8}$$

for any $u \in N_{\lambda}^{-}$. From (2.5), we obtain that

$$J_{\lambda}(u) \ge \|u\|^{q} \left(\frac{1}{4} \|u\|^{2-q} - \lambda \left(\frac{1}{q} - \frac{1}{4}\right) C |f_{+}|_{\infty}\right)$$
(2.9)

Since 1 < q < 2, (2.7) and (2.8) implies that there exists $\Lambda_2 \in (0, \Lambda_1)$ such that $\alpha_{\lambda}^- > d_0$ for some $d_0 > 0$ and $\lambda \in (0, \Lambda_2)$.

For each $u \in H_0^1(\Omega)$ with $\int_{\Omega} g(x) |u|^6 dx > 0$, we write

$$t_{\max} = \Big(\frac{\int_{\Omega} l(x)\phi_u u^2 dx + \sqrt{\left(\int_{\Omega} l(x)\phi_u u^2 dx\right)^2 + 4\|u\|^2 \int_{\Omega} g(x)|u|^6 dx}}{2\int_{\Omega} g(x)|u|^6 dx}\Big)^{1/2}.$$

Then we have the following Lemma.

Lemma 2.5. For each $u \in H_0^1(\Omega)$ with $\int_{\Omega} g(x)|u|^6 dx > 0$, there exists $\Lambda_3 \in (0, \Lambda_2)$ such that we have the following results:

(i) If $\int_{\Omega} f_{\lambda} |u|^q dx \leq 0$, then there is a unique $t^- = t^-(u) > t_{\max}$ such that $t^-u \in N_{\lambda}^-$ and $J_{\lambda}(tu)$ is increasing on $(0, t^-)$ and decreasing on (t^-, ∞) . Moreover, $J_{\lambda}(t^-u) = \sup_{t>0} J_{\lambda}(tu)$.

(ii) If $\int_{\Omega} f_{\lambda} |\overline{u}|^q dx > 0$, then there is a unique $0 < t^+ = t^+(u) < t_{\max} < t^-$ such that $t^- u \in N_{\lambda}^-, t^+ u \in N_{\lambda}^+, J_{\lambda}(tu)$ is decreasing on $(0, t^+)$, increasing on (t^+, t^-) and decreasing on (t^-, ∞) . Moreover, $J_{\lambda}(t^+ u) = \inf_{0 \le t \le t_{\max}} J_{\lambda}(tu); J_{\lambda}(t^- u) = \sup_{t > t^+} J_{\lambda}(tu)$.

Proof. Fix $u \in H_0^1(\Omega)$ with $\int_{\Omega} g(x) |u|^6 dx > 0$. Let

$$s(t) = t^{2-q} ||u||^2 + t^{4-q} \int_{\Omega} l(x)\phi_u u^2 dx - t^{6-q} \int_{\Omega} g(x) |u|^6 dx,$$

for $t \ge 0$. We have s(0) = 0, and $s(t) \to -\infty$ as $t \to \infty$. The function s(t) achieves its maximum at t_{\max} , increasing in $[0, t_{\max})$ and decreasing in (t_{\max}, ∞) . Moreover, we obtain

$$s(t_{\max}) \geq \max_{t \geq 0} \left(t^{2-q} ||u||^2 - t^{6-q} \int_{\Omega} g(x) |u|^6 dx \right)$$

$$= \left(\frac{(2-q) ||u||^2}{(6-q) \int_{\Omega} g(x) |u|^6 dx} \right)^{\frac{2-q}{4}} ||u||^2$$

$$- \left(\frac{(2-q) ||u||^2}{(6-q) \int_{\Omega} g(x) |u|^6 dx} \right)^{\frac{6-q}{4}} \int_{\Omega} g(x) |u|^6 dx \qquad (2.10)$$

$$= ||u||^q \left[\left(\frac{2-q}{6-q} \right)^{\frac{2-q}{4}} - \left(\frac{2-q}{6-q} \right)^{\frac{6-q}{4}} \right] \left(\frac{||u||^6}{\int_{\Omega} g(x) |u|^6 dx} \right)^{\frac{2-q}{4}}$$

$$\geq ||u||^q \left(\frac{4}{6-q} \right) \left(\frac{2-q}{6-q} \right)^{\frac{2-q}{4}} D(S),$$

where D(S) > 0 is a constant depends on S. We consider two cases now.

(i) $\int_{\Omega} f_{\lambda} |u|^q dx \leq 0$. There is a unique $t^- > t_{\max}$ such that $s(t^-) = \int_{\Omega} f_{\lambda} |u|^q dx$ and $s'(t^-) < 0$, which implies $t^- u \in N_{\lambda}^-$. Because of $t > t_{\max}$, we have

$$(2-q)||tu||^2 + (4-q)\int_{\Omega} l(x)\phi_{(tu)}(tu)^2 dx - (6-q)\int_{\Omega} g(x)|tu|^6 dx < 0$$

and

$$\begin{aligned} &\frac{d}{dt} J_{\lambda}(tu)|_{t=t^{-}} \\ &= \Big\{ t \|u\|^{2} + t^{3} \int_{\Omega} l(x)\phi_{u}u^{2}dx - t^{q-1} \int_{\Omega} f_{\lambda}|u|^{q}dx - t^{5} \int_{\Omega} g(x)|u|^{6}dx \Big\}|_{t=t^{-}} = 0. \end{aligned}$$

Thus $J_{\lambda}(tu)$ is increasing on $(0, t^{-})$ and decreasing on (t^{-}, ∞) . Moreover, $J_{\lambda}(t^{-}u) = \sup_{t>0} J_{\lambda}(tu)$.

(ii) $\int_{\Omega} f_{\lambda} |u|^q dx > 0$. By (2.10), we know that there exists $\Lambda_3 > 0$ such that

$$s(0) = 0 < \int_{\Omega} \lambda f_{+} |u|^{q} dx \le \lambda C |f_{+}|_{\infty} S^{-\frac{q}{2}} ||u||^{q}$$
(2.11)

$$< \|u\|^{q} \left(\frac{4}{6-q}\right) \left(\frac{2-q}{6-q}\right)^{\frac{2-q}{4}} D(S) \le s(t_{\max})$$
 (2.12)

for $\lambda \in (0, \Lambda_3)$. It follows that there are a unique t^+ and a unique t^- such that for $0 < t^+ < t_{\max} < t^-$, and we obtain

$$s(t^+) = \int_{\Omega} f_{\lambda} |u|^q dx = s(t^-)$$

and $s'(t^+) > 0 > s'(t^-)$.

Similarly as in case (i), we have $t^+u \in N_{\lambda}^+$, $t^-u \in N_{\lambda}^-$, and $J_{\lambda}(t^-u) \ge J_{\lambda}(tu) \ge J_{\lambda}(t^+u)$ for each $t \in [t^+, t^-]$. Furthermore, we can get $J_{\lambda}(t^+u) \le J_{\lambda}(tu)$ for each $t \in [0, t^+]$. In other words, $J_{\lambda}(tu)$ is decreasing on $(0, t^+)$, increasing on (t^+, t^-) and decreasing on (t^-, ∞) again. Moreover,

$$J_{\lambda}(t^+u) = \inf_{0 \le t \le t_{\max}} J_{\lambda}(tu); \quad J_{\lambda}(t^-u) = \sup_{t \ge t^+} J_{\lambda}(tu).$$

This completes the proof.

Next we establish that J_{λ} satisfies the $(PS)_c$ -condition for $c \in (-\infty, \alpha_{\lambda}^+ + \frac{1}{3}S^{3/2})$.

Lemma 2.6. For $\lambda \in (0, \Lambda_3)$, J_{λ} satisfies the $(PS)_c$ -condition for $c \in (-\infty, \alpha_{\lambda}^+ + \frac{1}{3}S^{3/2})$.

Proof. Let $\{u_n\} \subset H_0^1(\Omega)$ be a $(PS)_c$ -sequence for J_λ and $c \in (-\infty, \alpha_\lambda^+ + \frac{1}{3}S^{3/2})$. Since

$$o(||u_n||) + \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2} = J_{\lambda}(u_n) - \frac{1}{4}\langle J_{\lambda}'(u_n), u_n \rangle$$

$$= \frac{1}{4}||u_n||^2 + \frac{1}{12}\int_{\Omega} g(x)|u_n|^6 dx - \lambda \left(\frac{1}{q} - \frac{1}{4}\right)\int_{\Omega} f_{\lambda}|u|^q dx$$

$$\ge \frac{1}{4}||u_n||^2 - \lambda \left(\frac{1}{q} - \frac{1}{4}\right)C||u_n||^q,$$

we obtain that $\{u_n\}$ is bounded in $H_0^1(\Omega)$. Thus, there exist a subsequence still denoted by $\{u_n\}$ and $u \in H_0^1(\Omega)$ such that $u_n \rightharpoonup u$ weakly in $H_0^1(\Omega)$. By the compactness of Sobolev embedding, we obtain

$$\int_{\Omega} f_{\lambda} |u_{n}|^{q} dx = \int_{\Omega} f_{\lambda} |u|^{q} dx + o(1);$$

$$||u_{n} - u||^{2} = ||u_{n}||^{2} - ||u||^{2} + o(1);$$

$$\int_{\Omega} g |u_{n} - u|^{6} dx = \int_{\Omega} g |u_{n}|^{6} dx - \int_{\Omega} g |u|^{6} dx + o(1).$$

Moreover, we obtain from Lemma 2.1 that

$$\int_{\Omega} l(x)\phi_{u_n}u_n^2dx \to \int_{\Omega} l(x)\phi_u u^2dx,$$

$$\int_{\Omega} l(x)\phi_{u_n}u_nudx \to \int_{\Omega} l(x)\phi_u u^2 dx,$$

as $n \to \infty$. Then we can obtain $J'_{\lambda}(u) = 0$ in H^{-1} . Since $J_{\lambda}(u_n) = c + o(1)$ and $J'_{\lambda}(u_n) = o(1)$ in H^{-1} , we deduce that

$$\frac{1}{2} \|u_n - u\|^2 - \frac{1}{6} \int_{\Omega} g |u_n - u|^6 dx = c - J_{\lambda}(u) + o(1)$$
(2.13)

and

$$\begin{split} p(1) &= \langle J'_{\lambda}(u_n), u_n - u \rangle = \langle J'_{\lambda}(u_n) - J'_{\lambda}(u), u_n - u \rangle \\ &= \|u_n - u\|^2 - \int_{\Omega} g |u_n - u|^6 dx + o(1). \end{split}$$

Now we may assume that

$$||u_n - u||^2 \to a$$
 and $\int_{\Omega} g|u_n - u|^6 dx \to a$ as $n \to \infty$,

for some $a \in [0, +\infty)$.

Suppose $a \neq 0$ and notice the fact $g \leq 1$, using the Sobolev embedding theorem and passing to the limit as $n \to \infty$, we have $a \geq Sa^{1/3}$, i.e.,

$$a \ge S^{3/2}.$$
 (2.14)

Then by (2.10)-(2.13) and $u \in N_{\lambda} \cup \{0\}$,

$$c = J_{\lambda}(u) + \frac{a}{N} \ge \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2},$$

which contradicts the definition of c. Hence a = 0, i.e., $u_n \to u$ strongly in $H_0^1(\Omega)$.

Next we obtain the existence of a local minimizer for J_{λ} on N_{λ}^+ .

Theorem 2.7. For each $\lambda \in (0, \Lambda_3)$, J_{λ} has a minimizer u_{λ}^+ in N_{λ}^+ which satisfies:

- (i) u_{λ}^{+} is a positive solution of (1.1);
- (ii) $J_{\lambda}(u_{\lambda}^{+}) = \alpha_{\lambda}^{+};$
- (iii) $J_{\lambda}(u_{\lambda}^{+}) \to 0 \text{ as } \lambda \to 0;$
- (iv) $||u_{\lambda}^{+}|| \to 0 \text{ as } \lambda \to 0.$

Proof. Similarly as [9, Lemma 4.7], we can obtain a $(PS)_{\alpha_{\lambda}^{+}}$ -sequence for J_{λ} defined by $\{u_n\} \subset N_{\lambda}$. By Lemma 2.6, there exists a subsequence still denoted by $\{u_n\}$ and $u_{\lambda}^{+} \in H_0^1(\Omega)$ such that $u_n \to u_{\lambda}^{+}$ in $H_0^1(\Omega)$ as $n \to \infty$. Since $N_{\lambda}^0 = \emptyset$, we deduce that $u_{\lambda}^{+} \in N_{\lambda}^{+}$ and $J_{\lambda}(u_{\lambda}^{+}) = \alpha_{\lambda}^{+} < 0$. Note that $J_{\lambda}(u_n) = J_{\lambda}(|u_n|)$, we obtain that $u_{\lambda}^{+} \ge 0$ and $u_{\lambda}^{+} \not\equiv 0$. Recalling that $\phi_{u_{\lambda}^{+}} > 0$ and $\phi_{u_{\lambda}^{+}} \in C^0(\overline{\Omega})$, then the strong maximum principle suggests that $u_{\lambda}^{+} > 0$ in Ω . Then we can obtain the assertion (i) and (ii).

By (2.5), we have

$$0 > J_{\lambda}(u_{\lambda}^+) \ge -D\lambda^{\frac{2}{2-q}}$$

This implies $J_{\lambda}(u_{\lambda}^{+}) \to 0$ as $\lambda \to 0^{+}$. We obtain (iii).

Now we show (iv). Since $u_{\lambda}^+ \in N_{\lambda}^+$ and (2.6), we know

$$\|u_{\lambda}^{+}\|^{2} \leq \frac{4-q}{2} \int_{\Omega} f_{\lambda} |u|^{q} dx \leq \lambda C |f_{+}|_{\infty} \|u_{\lambda}^{+}\|^{q}.$$

$$(2.15)$$

Moreover, because J_{λ} is coercive and bounded from below on N_{λ} , $\{u_{\lambda}^{+}\}_{\lambda}$ is bounded in $H_{0}^{1}(\Omega)$. It follows from (2.15) that

$$||u_{\lambda}^{+}||^{2-q} \le C\lambda^{\frac{1}{2-q}}.$$

Then $||u_{\lambda}^{+}|| \to 0$, as $\lambda \to 0^{+}$.

3. Technical results

In this Section, we will recall and prove some lemmas which are crucial in the proof of the main theorem.

For b > 0, we define

$$\begin{split} J^b_\infty(u) &= \frac{1}{2} \|u\|^2 - \frac{b}{6} \int_\Omega g |u|^6 dx, \\ N^b_\infty &= \{ u \in H^1_0(\Omega) \backslash \{0\}; \langle (J^b_\infty)'(u), v \rangle = 0 \} \end{split}$$

Lemma 3.1. For each $u \in N_{\lambda}^{-}$, we have

(i) There is a unique t^b_u such that $t^b_u u \in N^b_\infty$ and

$$\max_{t \ge 0} J_{\infty}^{b}(tu) = J_{\infty}^{b}(t_{u}^{b}u) = \frac{1}{3}b^{-1/2} \Big(\frac{\|u\|^{6}}{\int_{\Omega} g|u|^{6}dx}\Big)^{1/2}.$$

(ii) For $\mu \in (0,1)$, there is a unique t_u^1 such that $t_u^1 u \in N_\infty^1$. Moreover,

$$J_{\infty}^{1}(t_{u}^{1}u) \leq (1-\mu)^{-3/2} \Big(J_{\lambda}(u) + \frac{2-q}{2q} \mu^{\frac{q}{q-2}} \lambda^{\frac{2}{2-q}} C \Big).$$

Proof. (i) For each $u \in N_{\lambda}^{-}$, let

$$h(t) = J_{\infty}^{b}(tu) = \frac{t^{2}}{2} ||u||^{2} - \frac{b}{6}t^{6} \int_{\Omega} g|u|^{6} dx.$$

We have $h(t) \to -\infty$ as $t \to \infty$,

$$h'(t) = t ||u||^2 - bt^5 \int_{\Omega} g|u|^6 dx,$$

$$h''(t) = t ||u||^2 - 5bt^4 \int_{\Omega} g|u|^6 dx.$$

 Set

$$t_u^b = \Big(\frac{\|u\|^2}{\int_\Omega bg |u|^6 dx}\Big)^{1/4} > 0$$

Then $h'(t_u^b) = 0$, $t_u^b u \in N_\infty^b$ and $h''(t_u^b) = -4||u||^2 < 0$. Hence there is a unique $t_u^b > 0$ such that $t_u^b u \in N_\infty^b$ and

$$\max_{t \ge 0} J_{\infty}^{b}(tu) = J_{\infty}^{b}(t_{u}^{b}u) = \frac{1}{3}b^{-1/2} \left(\frac{\|u\|^{6}}{\int_{\Omega} g|u|^{6}dx}\right)^{-1/2}.$$

(ii) For $\mu \in (0, 1)$, we have

$$\begin{split} \int_{\Omega} \lambda f_{+} |t_{u}^{b} u|^{q} dx &\leq \lambda C \|t_{u}^{b} u\|^{q} \\ &\leq \frac{2-q}{2} (\lambda C \mu^{-\frac{q}{2}})^{\frac{2}{2-q}} + \frac{q}{2} \left(\mu^{\frac{q}{2}} \|t_{u}^{b} u\|^{q} \right)^{2/q} \\ &= \frac{2-q}{2} \mu^{\frac{q}{q-2}} C \lambda^{\frac{2}{2-q}} + \frac{q\mu}{2} \|t_{u}^{b} u\|^{2}. \end{split}$$

Then letting $b = \frac{1}{1-\mu}$, by part (i), we have

$$\begin{split} J_{\lambda}(u) &= \max_{t \ge 0} J_{\lambda}(tu) \ge J_{\lambda}(t_{u}^{\frac{1}{1-\mu}}u) \\ &\ge \frac{1-\mu}{2} \| (t_{u}^{\frac{1}{1-\mu}}u) \|^{2} + \frac{1}{4} (t_{u}^{\frac{1}{1-\mu}})^{4} \int_{\Omega} l(x) \phi_{u} u^{2} dx \\ &- \frac{1}{6} (t_{u}^{\frac{1}{1-\mu}})^{6} \int_{\Omega} g |u|^{6} dx - \frac{2-q}{2q} \mu^{\frac{q}{q-2}} C \lambda^{\frac{2}{2-q}} \\ &\ge (1-\mu) J_{\infty}^{\frac{1}{1-\mu}} (t_{u}^{\frac{1}{1-\mu}}u) - \frac{2-q}{2q} \mu^{\frac{q}{q-2}} C \lambda^{\frac{2}{2-q}} \\ &= (1-\mu)^{3/2} \frac{1}{3} \Big(\frac{\|u\|^{6}}{\int_{\Omega} g |u|^{6} dx} \Big)^{-1/2} - \frac{2-q}{2q} \mu^{\frac{q}{q-2}} C \lambda^{\frac{2}{2-q}} \\ &= (1-\mu)^{3/2} J_{\infty}^{1} (t_{u}^{1}u) - \frac{2-q}{2q} \mu^{\frac{q}{q-2}} C \lambda^{\frac{2}{2-q}}. \end{split}$$

This completes the proof.

Let $\eta(x) \in C_0^{\infty}(\mathbb{R}^3)$ be a radially symmetric function with $0 \le \eta \le 1$, $|\nabla \eta| \le C$, and

$$\eta(x) = \begin{cases} 1, & \text{if } |x| \le \frac{r_0}{2}, \\ 0, & \text{if } |x| \ge r_0. \end{cases}$$

For any $z \in M$, we define

$$\omega_{\varepsilon,z}(x) = \eta(x-z)v_{\varepsilon}(x-z).$$

where $v_{\varepsilon}(x)$ is given by (2.1). From the same arguments of [24] we know that

$$\int_{\Omega} |\nabla \omega_{\varepsilon,z}|^2 dx = S^{\frac{3}{2}} + O(\varepsilon^{1/2})$$
(3.1)

and

$$C_1 \varepsilon^{q/4} \le \int_{\Omega} |\omega_{\varepsilon,z}|^q dx \le C_2 \varepsilon^{q/4}, \quad 1 \le q < 3,$$

$$C_3 \varepsilon^{q/4} |\ln \varepsilon| \le \int_{\Omega} |\omega_{\varepsilon,z}|^q dx \le C_4 \varepsilon^{q/4} |\ln \varepsilon|, \quad q = 3,$$

$$C_5 \varepsilon^{(6-q)/4} \le \int_{\Omega} |\omega_{\varepsilon,z}|^q dx \le C_6 \varepsilon^{(6-q)/4}, \quad 3 < q < 6.$$

Lemma 3.2. We have

$$\int_{\Omega} g |\omega_{\varepsilon,z}|^6 dx = S^{\frac{3}{2}} + O(\varepsilon^{3/2})$$

For a proof of the above lemma, see [10, Lemma 3.1].

Lemma 3.3. There exists $\varepsilon_0 > 0$ small enough such that for $\varepsilon \in (0, \varepsilon_0)$, we have $\sigma(\varepsilon_0) > 0$ and

$$\sup_{t \ge 0} J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) < \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2} - \sigma(\varepsilon_{0})$$

uniformly for $z \in M$. Furthermore, there exists $t_z^- > 0$ such that

$$u_{\lambda}^{+} + t_{z}^{-}\omega_{\varepsilon,z} \in N_{\lambda}^{-}, \quad \forall z \in M.$$

Proof. It is easy to see that

$$\lim_{t \to 0} J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) = \alpha_{\lambda}^{+} < 0 \quad \text{and} \quad \lim_{t \to \infty} J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) = -\infty,$$

H. FAN

for all $\varepsilon>0$ small enough. Thus, there exists $t_0>0$ small enough and $t_1>0$ large enough such that

$$J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) < \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2}, \quad \text{for } t \in (0, t_0] \cup [t_1, +\infty).$$

We only need to prove that

$$J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) < \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2}, \quad \text{for } t \in [t_0, t_1].$$

It is easy to see that for 1 < q < 2 it holds

 $(a+b)^q \ge a^q + qa^{q-1}b, \quad (a+b)^6 \ge a^6 + b^6 + 6a^5b + 6ab^5, \quad \text{for } a, b \ge 0. \quad (3.2)$ Since u_λ^+ is a solution of (1.1), it holds

$$\int_{\Omega} \nabla u_{\lambda}^{+} \nabla \omega_{\varepsilon,z} dx + \int_{\Omega} l(x) \phi_{u_{\lambda}^{+}} u_{\lambda}^{+} \omega_{\varepsilon,z} dx - \int_{\Omega} f_{\lambda}(x) (u_{\lambda}^{+})^{q-1} \omega_{\varepsilon,z} dx - \int_{\Omega} g(x) (u_{\lambda}^{+})^{5} \omega_{\varepsilon,z} dx = 0.$$
(3.3)

It follows from Theorem 2.7 and (3.2)-(3.3) that

$$\begin{aligned} J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) \\ &= J_{\lambda}(u_{\lambda}^{+}) + \frac{t^{2}}{2} \|\omega_{\varepsilon,z}\|^{2} + t \int_{\Omega} [\nabla u_{\lambda}^{+} \nabla \omega_{\varepsilon,z} + l\phi_{u_{\lambda}^{+}} u_{\lambda}^{+} \omega_{\varepsilon,z} \\ &- g(u_{\lambda}^{+})^{5} \omega_{\varepsilon,z} - f_{\lambda}(u_{\lambda}^{+})^{q-1} \omega_{\varepsilon,z}] dx \\ &+ \frac{1}{4} \int_{\Omega} l[\phi_{u_{\lambda}^{+} + t\omega_{\varepsilon,z}} (u_{\lambda}^{+} + t\omega_{\varepsilon,z})^{2} - \phi_{u_{\lambda}^{+}} (u_{\lambda}^{+})^{2} - 4\phi_{u_{\lambda}^{+}} u_{\lambda}^{+} (t\omega_{\varepsilon,z})] dx \\ &- \frac{1}{6} \int_{\Omega} g[(u_{\lambda}^{+} + t\omega_{\varepsilon,z})^{6} - (u_{\lambda}^{+})^{6} - 6(u_{\lambda}^{+})^{5} t\omega_{\varepsilon,z}] dx \\ &- \frac{1}{q} \int_{\Omega} f_{\lambda}[(u_{\lambda}^{+} + t\omega_{\varepsilon,z})^{q} - (u_{\lambda}^{+})^{q} - q(u_{\lambda}^{+})^{q-1} t\omega_{\varepsilon,z}] dx \\ &\leq \alpha_{\lambda}^{+} + k(t) + h(t), \end{aligned}$$

$$(3.4)$$

where

$$k(t) = \frac{t^2}{2} \|\omega_{\varepsilon,z}\|^2 - \frac{t^6}{6} \int_{\Omega} g(\omega_{\varepsilon,z})^6 dx - t^5 \int_{\Omega} gu_{\lambda}^+ (\omega_{\varepsilon,z})^5 dx,$$

$$h(t) = \frac{1}{4} \int_{\Omega} l[\phi_{u_{\lambda}^+ + t\omega_{\varepsilon,z}} (u_{\lambda}^+ + t\omega_{\varepsilon,z})^2 - \phi_{u_{\lambda}^+} (u_{\lambda}^+)^2 - 4\phi_{u_{\lambda}^+} u_{\lambda}^+ (t\omega_{\varepsilon,z})] dx.$$

Note that

$$\begin{split} \int_{\Omega} g u_{\lambda}^{+}(\omega_{\varepsilon,z})^{5} dx &= \int_{\Omega} g u_{\lambda}^{+}(\eta(x-z)v_{\varepsilon}(x-z))^{5} dx \\ &\geq C \int_{B_{2\rho}} \frac{(3\varepsilon)^{5/4}}{(\varepsilon+|x|^{2})^{5/2}} dx \\ &\geq C\varepsilon^{1/4} \int_{0}^{\rho} \frac{r^{2}}{(1+r^{2})^{\frac{5}{2}}} dr \\ &\geq C\varepsilon^{1/4}, \end{split}$$

for some C > 0, we have

$$\begin{aligned} k(t) &\leq \frac{t^2}{2} \|\omega_{\varepsilon,z}\|^2 - \frac{t^6}{6} \int_{\Omega} g(\omega_{\varepsilon,z})^6 dx - C\varepsilon^{1/4} \\ &\leq \frac{1}{3} \Big(\frac{\|\omega_{\varepsilon,z}\|^2}{\left(\int_{\Omega} g(\omega_{\varepsilon,z})^6 dx\right)^{1/3}} \Big)^{3/2} - C\varepsilon^{1/4} \\ &\leq \frac{1}{3} \left(\frac{S^{3/2} + O(\varepsilon^{1/2})}{(S^{3/2} + O(\varepsilon^{3/2}))^{1/3}} \right)^{3/2} - C\varepsilon^{1/4} \\ &\leq \frac{1}{3} S^{3/2} + O(\varepsilon^{1/2}) - C\varepsilon^{1/4}. \end{aligned}$$
(3.5)

We claim that

$$h(t) \le C\varepsilon^{1/2}, \quad \text{for } t \in [t_0, t_1].$$
 (3.6)

In fact, by calculations we arrive at

$$h(t) = \frac{1}{4} \int_{\Omega} l[\phi_{u_{\lambda}^{+} + t\omega_{\varepsilon,z}}(u_{\lambda}^{+} + t\omega_{\varepsilon,z})^{2} - \phi_{u_{\lambda}^{+}}(u_{\lambda}^{+})^{2} - 4\phi_{u_{\lambda}^{+}}u_{\lambda}^{+}(t\omega_{\varepsilon,z})]dx$$

$$= t \int_{\Omega} l\omega_{\varepsilon,z}u_{\lambda}^{+}\phi_{t\omega_{\varepsilon,z}}dx + \frac{t^{2}}{2} \int_{\Omega} l\phi_{u_{\lambda}^{+}}(\omega_{\varepsilon,z})^{2}dx + \frac{t^{2}}{4} \int_{\Omega} l\phi_{t\omega_{\varepsilon,z}}(\omega_{\varepsilon,z})^{2}dx \quad (3.7)$$

$$+ t^{2} \int_{\Omega \times \Omega} \frac{1}{|x - y|} l(y)u_{\lambda}^{+}(y)\omega_{\varepsilon,z}(y)l(x)u_{\lambda}^{+}(x)\omega_{\varepsilon,z}(x) dx dy.$$

Using the Hölder inequality, (3.1) and the fact that $t \in [t_0, t_1]$, we obtain that

$$\int_{\Omega} l\omega_{\varepsilon,z} u_{\lambda}^{+} \phi_{t\omega_{\varepsilon,z}} dx \leq |l|_{\infty} |\phi_{\omega_{\varepsilon,z}}|_{6} |u_{\lambda}^{+}|_{12/5} |\omega_{\varepsilon,z}|_{12/5} \leq C |\omega_{\varepsilon,z}|_{12/5}^{3} \leq C \varepsilon^{3/4}; \quad (3.8)$$
$$\int_{\Omega} l\phi_{t\omega_{\varepsilon,z}} (\omega_{\varepsilon,z})^{2} dx \leq |l|_{\infty} |\phi_{t\omega_{\varepsilon,z}}|_{6} |\omega_{\varepsilon,z}|_{12/5}^{2} \leq C |\omega_{\varepsilon,z}|_{12/5}^{4} \leq C \varepsilon; \quad (3.9)$$

$$\int_{\Omega} l\phi_{t\omega_{\varepsilon,z}}(\omega_{\varepsilon,z}) \, dx \le |l|_{\infty} |\phi_{t\omega_{\varepsilon,z}}|_{6} |\omega_{\varepsilon,z}|_{12/5} \le C |\omega_{\varepsilon,z}|_{12/5} \le C\varepsilon; \tag{3.9}$$

$$\int_{\Omega} l\phi_{u_{\lambda}^{+}}(\omega_{\varepsilon,z})^{2} dx \leq |l|_{\infty} |\phi_{u_{\lambda}^{+}}|_{6} |\omega_{\varepsilon,z}|_{12/5}^{2} \leq C\varepsilon^{1/2}.$$
(3.10)

Moreover, by [9, Lemma 2, P.31], it holds

$$\int_{\Omega \times \Omega} \frac{1}{|x-y|} l(y) u_{\lambda}^{+}(y) \omega_{\varepsilon,z}(y) l(x) u_{\lambda}^{+}(x) \omega_{\varepsilon,z}(x) \, dx \, dy$$

$$\leq \left(\int_{\Omega} |l(x) u_{\lambda}^{+}(x) \omega_{\varepsilon,z}(x)|^{6/5} dx \right)^{5/3} \qquad (3.11)$$

$$\leq C |u_{\lambda}^{+}|_{12/5}^{2} |\omega_{\varepsilon,z}|_{12/5}^{2} \leq C \varepsilon^{1/2}.$$

It follows from (3.7)-(3.11) that (3.6) holds. We deduce from (3.4)-(3.6) that

$$J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) < \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2} + C\varepsilon^{1/2} - C\varepsilon^{1/4},$$

for $t \in [t_0, t_1]$. Consequently, there exists $\varepsilon_0 > 0$ small enough such that for $\varepsilon \in (0, \varepsilon_0)$, we have $\sigma(\varepsilon_0) > 0$ and

$$\sup_{t \ge 0} J_{\lambda}(u_{\lambda}^{+} + t\omega_{\varepsilon,z}) < \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2} - \sigma(\varepsilon_{0}) \quad \text{uniformly in } z \in M.$$

Now, we prove that there exists $t^-_z>0$ such that

$$u_{\lambda}^{+} + t_{z}^{-}\omega_{\varepsilon,z} \in N_{\lambda}^{-}$$
, for all $z \in M$.

H. FAN

Let

$$U_{1} = \left\{ u \in H_{0}^{1}(\Omega) \setminus \{0\}; \frac{1}{\|u\|} t^{-} \left(\frac{u}{\|u\|}\right) > 1 \right\} \cup \{0\};$$
$$U_{2} = \left\{ u \in H_{0}^{1}(\Omega) \setminus \{0\}; \frac{1}{\|u\|} t^{-} \left(\frac{u}{\|u\|}\right) < 1 \right\}.$$

Then N_{λ}^{-} disconnects $H_{0}^{1}(\Omega)$ into two connected components U_{1} and U_{2} . Moreover, $H_{0}^{1}(\Omega) \setminus N_{\lambda}^{-} = U_{1} \cup U_{2}$. For each $u \in N_{\lambda}^{+}$, we have

$$1 < t_{\max} < t^{-}(u).$$

Since $t^-(u) = \frac{1}{\|u\|} t^-\left(\frac{u}{\|u\|}\right)$, then $N_{\lambda}^+ \subset U_1$. In particular, $u_{\lambda}^+ \in U_1$. We claim that we can find a constant c > 0 such that

$$0 < t^{-} \left(\frac{u_{\lambda}^{+} + t\omega_{\varepsilon,z}}{\|u_{\lambda}^{+} + t\omega_{\varepsilon,z}\|} \right) < c \quad \text{for each } t \ge 0 \text{ and } z \in M.$$

Otherwise, there exists a sequence $\{t_n\}$ such that $t_n \to \infty$ and

$$t^{-}\Big(\frac{u_{\lambda}^{+}+t_{n}\omega_{\varepsilon,z}}{\|u_{\lambda}^{+}+t_{n}\omega_{\varepsilon,z}\|}\Big)\to\infty\quad\text{as }n\to\infty.$$

Let

$$v_n = \frac{u_{\lambda}^+ + t_n \omega_{\varepsilon,z}}{\|u_{\lambda}^+ + t_n \omega_{\varepsilon,z}\|}.$$

Since $t^-(v_n)v_n \in N_{\lambda}^- \subset N_{\lambda}$ and by the Lesbesgue dominated convergence theorem,

$$\int_{\Omega} g |v_n|^6 dx = \frac{1}{\|u_{\lambda}^+ + t_n \omega_{\varepsilon,z}\|^6} \int_{\Omega} g |u_{\lambda}^+ + t_n \omega_{\varepsilon,z}|^6 dx$$
$$= \frac{1}{\|\frac{u_{\lambda}^+}{t_n} + \omega_{\varepsilon,z}\|^6} \int_{\Omega} g |\frac{u_{\lambda}^+}{t_n} + \omega_{\varepsilon,z}|^6 dx$$
$$\to \frac{\int_{\Omega} g |\omega_{\varepsilon,z}|^6 dx}{\|\omega_{\varepsilon,z}\|^6} > 0, \text{ as } n \to \infty,$$

we have

$$J_{\lambda}(t^{-}(v_{n})v_{n}) = \frac{1}{2}[t^{-}(v_{n})]^{2} + \frac{(t^{-}(v_{n}))^{4}}{4} \int_{\Omega} l\phi_{v_{n}}v_{n}^{2}dx - \frac{[t^{-}(v_{n})]^{q}}{q} \int_{\Omega} f_{\lambda}|v_{n}|^{q}dx$$
$$- \frac{[t^{-}(v_{n})]^{6}}{6} \int_{\Omega} g|v_{n}|^{6}dx \to -\infty \quad \text{as } n \to \infty.$$

This contradicts that J_{λ} is bounded below on N_{λ} and the claim is proved. Let

$$t_{\lambda} = \frac{|c^2 - \|u_{\lambda}^+\|^2|^{1/2}}{\|\omega_{\varepsilon,z}\|} + 1$$

Then

$$\begin{split} \|u_{\lambda}^{+} + t_{\lambda}\omega_{\varepsilon,z}\|^{2} &= \|u_{\lambda}^{+}\|^{2} + t_{\lambda}^{2}\|\omega_{\varepsilon,z}\|^{2} + 2t_{\lambda}\langle u_{\lambda}^{+}, \omega_{\varepsilon,z}\rangle \\ &> \|u_{\lambda}^{+}\|^{2} + |c^{2} - \|u_{\lambda}^{+}\|^{2}| + 2t_{\lambda}\int_{\Omega}u_{\lambda}^{+}\omega_{\varepsilon,z}dx \\ &> c^{2} > \left[t^{-}\left(\frac{u_{\lambda}^{+} + t_{\lambda}\omega_{\varepsilon,z}}{\|u_{\lambda}^{+} + t_{\lambda}\omega_{\varepsilon,z}\|}\right)\right]^{2}, \end{split}$$

that is $u_{\lambda}^{+} + t_{\lambda}\omega_{\varepsilon,z} \in U_2$. Thus there exists $0 < t_z^- < t_{\lambda}$ such that $u_{\lambda}^+ + t_z^-\omega_{\varepsilon,z} \in N_{\lambda}^-$.

Lemma 3.4. We have

$$\inf_{u \in N_{\infty}^{1}} J_{\infty}^{1}(u) = \inf_{u \in N^{\infty}} J^{\infty}(u) = \frac{1}{3} S^{3/2},$$

where

$$J^{\infty}(u) = \frac{1}{2} \|u\|^2 - \frac{1}{6} \int_{\Omega} |u|^6 dx, \quad N^{\infty} = \{ u \in H^1_0(\Omega) \setminus \{0\}; \langle (J^{\infty})'(u), u \rangle = 0 \}.$$

Proof. From [24], we have

$$\inf_{u \in N^{\infty}} J^{\infty}(u) = \frac{1}{3}S^{3/2}.$$

Thus it suffices to show that $\inf_{u \in N_{\infty}^{1}} J_{\infty}^{1}(u) = \frac{1}{3}S^{3/2}$. Since

$$\max_{t \ge 0} \left(\frac{a}{2}t^2 - \frac{b}{6}t^6\right) = \frac{1}{3} \left(\frac{a}{b^{1/3}}\right)^{3/2}$$

for any a > 0 and b > 0, by (3.1) and Lemma 3.2 we deduce that

$$\sup_{t \ge 0} J^1_{\infty}(t\omega_{\varepsilon,z}) = \frac{1}{3} \Big(\frac{\|\omega_{\varepsilon,z}\|^2}{\big(\int_{\Omega} g |\omega_{\varepsilon,z}|^6 dx\big)^{1/3}} \Big)^{3/2} = \frac{1}{3} S^{3/2} + O(\varepsilon^{1/2}).$$

Then we obtain

$$\inf_{u \in N_{\infty}^{1}} J_{\infty}^{1}(u) \leq \frac{1}{3} S^{3/2}, \quad \text{as } \varepsilon \to 0^{+}$$

Since $g \leq 1$, for each $u \in H_0^1(\Omega) \setminus \{0\}$, we have

$$\sup_{t \ge 0} J^{\infty}(tu) \le \sup_{t \ge 0} J^{1}_{\infty}(tu).$$

Hence

$$\frac{1}{3}S^{3/2} = \inf_{u \in N^{\infty}} J^{\infty}(u) = \inf_{u \in H_0^1(\Omega) \setminus \{0\}} \sup_{t \ge 0} J^{\infty}(tu)$$
$$\leq \inf_{u \in H_0^1(\Omega) \setminus \{0\}} \sup_{t \ge 0} J^1_{\infty}(tu) = \inf_{u \in N_{\infty}^1} J^1_{\infty}(u) \le \frac{1}{3}S^{3/2}.$$

This completes the proof.

4. Proof of Theorem 1.2

In this section, we use the idea of category to get positive solutions of (1.1) and give the proof of Theorem 1.2. Initially, we state the following two propositions related to category theory.

Proposition 4.1 ([5, Theorem 2.1]). Let R be a $C^{1,1}$ complete Riemannian manifold (modelled on a Hilbert space) and assume $F \in C^1(R, \mathbb{R})$ bounded from below. Let $-\infty < \inf_R F < a < b < +\infty$. Suppose that F satisfies (PS)-condition on the sublevel $\{u \in R; F(u) \leq b\}$ and that a is not a critical level for F. Then

$$\sharp\{u \in F^a; \nabla F(u) = 0\} \ge \operatorname{cat}_{F^a}(F^a),$$

where $F^a \equiv \{u \in R; F(u) \le a\}.$

15

Proposition 4.2 ([5, Lemma 2.2]). Let Q, Ω^+ and Ω^- be closed sets with $\Omega^- \subset \Omega^+$; let $\phi: Q \to \Omega^+, \varphi: \Omega^- \to Q$ be two continuous maps such that $\phi \circ \varphi$ is homotopically equivalent to the embedding $j: \Omega^- \to \Omega^+$. Then $\operatorname{cat}_Q(Q) \ge \operatorname{cat}_{\Omega^+}(\Omega^-)$.

The proof of Theorem 1.2 is based on Propositions 4.1 and 4.2. To argue further, we need to introduce the following Lemma.

Lemma 4.3. Let $\{u_n\} \subset H_0^1(\Omega)$ be a nonnegative function sequence with $|u_n|_6 = 1$ and $\int_{\Omega} |\nabla u_n|^2 dx \to S$. Then there exists a sequence $(y_n, \theta_n) \in \mathbb{R}^3 \times \mathbb{R}^+$ such that

$$v_n(x) := \theta_n^{1/2} u_n(\theta_n x + y_n)$$

contains a convergent subsequence denoted again by $\{v_n\}$ such that $v_n \to v$ in $\mathcal{D}^{1,2}(\mathbb{R}^3)$ with v(x) > 0 in \mathbb{R}^3 . Moreover, we have $\theta_n \to 0$ and $y_n \to y \in \overline{\Omega}$.

For a proof of the above lemmas, see See Willem [24]. Next we define the continuous map $\Phi: H_0^1(\Omega) \setminus G \to \mathbb{R}^N$ by

$$\Phi(u) := \frac{\int_{\Omega} x |u - u_{\lambda}^+|^6 dx}{\int_{\Omega} |u - u_{\lambda}^+|^6 dx},$$

where $G = \{ u \in H_0^1(\Omega); \int_{\Omega} |u - u_{\lambda}^+|^6 dx = 0 \}$. Then we have the following lemma.

Lemma 4.4. For each $0 < \delta < r_0$, there exist $\Lambda_{\delta}, \delta_0 > 0$ such that if $u \in N^1_{\infty}$, $J^1_{\infty}(u) < \frac{1}{3}S^{3/2} + \delta_0$ and $\lambda < \Lambda_{\delta}$, then $\Phi(u) \in M_{\delta}$.

Proof. Suppose the contrary. Then there exists a sequence $\{u_n\} \subset N_{\infty}^1$ such that $J_{\infty}^1(u_n) = \frac{1}{3}S^{3/2} + o(1), \lambda \to 0^+$, and

$$\Phi(u_n) \not\in M_\delta \quad \forall n$$

It is easy to show that $\{u_n\}$ is bounded in $H_0^1(\Omega)$ and there is a sequence $\{t_n^\infty\} \subset \mathbb{R}^+$ such that $\{t_n^\infty u_n\} \in N^\infty$ and

$$\frac{1}{3}S^{3/2} \le J^{\infty}(t_n^{\infty}u_n) \le J^1_{\infty}(t_n^{\infty}u_n) \le J^1_{\infty}(u_n) = \frac{1}{3}S^{3/2} + o(1).$$
(4.1)

We obtain $t_n^{\infty} = 1 + o(1)$ as $n \to \infty$ and

$$\lim_{n \to \infty} J^{\infty}(u_n) = \lim_{n \to \infty} \frac{1}{3} ||u_n||^2 = \lim_{n \to \infty} \frac{1}{3} \int_{\Omega} |u_n|^6 dx$$

$$= \lim_{n \to \infty} \frac{1}{3} \int_{\Omega} g |u_n|^6 dx = \frac{1}{3} S^{3/2} + o(1).$$
 (4.2)

Let

$$U_n = \frac{u_n}{\left(\int_{\Omega} |u_n|^6 dx\right)^{1/6}}.$$

We see that $\int_{\Omega} |U_n|^6 dx = 1$. Furthermore, it follows from (4.2) that

$$\lim_{n \to \infty} \|U_n\|^2 = S$$

By Lemma 4.3, there is a sequence $\{(x_n, \varepsilon_n)\} \subset \mathbb{R}^3 \times \mathbb{R}^+$ such that $\varepsilon_n \to 0$, $x_n \to x_0 \in \overline{\Omega}$ and $\omega_n(x) = \varepsilon_n^{1/2} U_n(\varepsilon_n x + x_n) \to \omega$ strongly in $\mathcal{D}^{1,2}(\mathbb{R}^3)$ with $\omega > 0$ as $n \to \infty$. Then by (4.2),

$$1 = o(1) + \int_{\Omega} g|U_n|^6 dx = \varepsilon_n^{-3} \int_{\Omega} g\left|\omega_n\left(\frac{x-x_n}{\varepsilon_n}\right)\right|^6 dx + o(1) = g(x_0),$$

as $n \to \infty$, which implies $x_0 \in M$. By the Lebesgue dominated convergence theorem again, we have

$$\Phi(u_n) = \frac{\int_{\Omega} x |u_n - u_{\lambda}^+|^6 dx}{\int_{\Omega} |u_n - u_{\lambda}^+|^6 dx}$$
(4.3)

$$=\frac{\int_{\Omega} x |u_n|^6 dx}{\int_{\Omega} |u_n|^6 dx} + o(1), \tag{4.4}$$

$$= \frac{\varepsilon_n^{-3} \int_{\Omega} x \left| \omega_n \left(\frac{x - x_n}{\varepsilon_n} \right) \right|^6 dx}{\varepsilon_n^{-3} \int_{\Omega} \left| \omega_n \left(\frac{x - x_n}{\varepsilon_n} \right) \right|^6 dx} + o(1)$$
(4.5)

$$\rightarrow x_0 \in M \quad \text{as } n \rightarrow \infty, \ \lambda \rightarrow 0$$
 (4.6)

which is a contradiction.

Lemma 4.5. There exists $\Lambda_{\delta} > 0$ small enough such that if $\lambda < \Lambda_{\delta}$ and $u \in N_{\lambda}^{-}$ with $J_{\lambda}(u) < \frac{1}{3}S^{3/2} + \frac{\delta_0}{2}$ (δ_0 is given in Lemma 4.4), then $\Phi(u) \in M_{\delta}$.

Proof. By Lemma 3.1, for $\mu \in (0,1)$, there is a unique t_u^1 such that $t_u^1 u \in N_\infty^1$ and

$$J^{1}_{\infty}(t_{u}u) \leq (1-\mu)^{-3/2} (J_{\lambda}(u) + C\mu^{\frac{q}{q-2}} \lambda^{\frac{2}{2-q}}).$$

Thus there exists $\Lambda_{\delta} > 0$ small enough such that if $\lambda < \Lambda_{\delta}$ and $J_{\lambda}(u) < \frac{1}{N} S_{\alpha,\beta}^{N/2} + \frac{\delta_0}{2}$,

$$J_{\infty}^{1}(t_{u}^{1}u) \leq \frac{1}{3}S^{3/2} + \delta_{0}$$

By Lemma 4.4 and $||u_{\lambda}^{+}|| \to 0$ as $\lambda \to 0$, we complete the proof.

Now we denote $c_{\lambda} := \alpha_{\lambda}^{+} + \frac{1}{3}S^{3/2} - \sigma(\varepsilon_0)$ and consider the filtration of the manifold of N_{λ}^{-} as follows:

$$N_{\lambda}^{-}(c_{\lambda}) := \{ u \in N_{\lambda}^{-}; J_{\lambda}(u) \le c_{\lambda} \}.$$

Then $\operatorname{cat}_{M_{\delta}}(M)$ critical points of J_{λ} will be obtained from $N_{\lambda}^{-}(c_{\lambda})$ in the following. At first, we show that a critical point of J_{λ} restrict on N_{λ}^{-} is in fact a critical point of J_{λ} in $H_{0}^{1}(\Omega)$.

Lemma 4.6. If u is a critical point of J_{λ} on N_{λ}^{-} , then it is a critical point of J_{λ} in $H_{0}^{1}(\Omega)$.

Proof. If $u \in N_{\lambda}^{-}$, then $\langle J_{\lambda}'(u), u \rangle = 0$. On the other hand,

$$J_{\lambda}'(u) = \tau \psi_{\lambda}'(u)$$

for some $\tau \in \mathbb{R}$, where ψ_{λ} is defined in (2.6). Thus we have

$$0 = \tau \langle \psi'_{\lambda}(u), u \rangle,$$

which combined with the definition of N_{λ}^{-} imply that $\tau = 0$, i.e. $J_{\lambda}'(u) = 0$.

In the succeeding text, we denote by $J_{N_{\lambda}^{-}}$ the restriction of J_{λ} on N_{λ}^{-} and show that $J_{N_{\lambda}^{-}}$ satisfies (PS)-condition on $N_{\lambda}^{-}(c_{\lambda})$.

Lemma 4.7. Any sequence $\{u_n\} \subset N_{\lambda}^-$ such that $J_{N_{\lambda}^-}(u_n) \to \beta \in (-\infty, c_{\lambda}]$ and $J'_{N_{\lambda}^-}(u_n) \to 0$ contains a convergent subsequence.

Proof. By hypothesis there exists a sequence $\{\theta_n\} \subset \mathbb{R}$ such that

$$J'_{\lambda}(u_n) = \theta_n \psi'_{\lambda}(u_n) + o(1).$$

Recall that $u_n \in N_{\lambda}^-$ and so

$$\langle \psi_{\lambda}'(u_n), u_n \rangle < 0.$$

If $\langle \psi'_{\lambda}(u_n), u_n \rangle \to 0$, we from (2.7) deduce that

$$\begin{split} &J_{\lambda}(u_{n}) \\ &= J_{\lambda}(u_{n}) - \frac{1}{q} \langle J_{\lambda}'(u_{n}), u_{n} \rangle \\ &= \left(\frac{1}{2} - \frac{1}{q}\right) \|u_{n}\|^{2} + \left(\frac{1}{4} - \frac{1}{q}\right) \int_{\Omega} l(x)\phi_{u_{n}}u_{n}^{2}dx - \left(\frac{1}{q} - \frac{1}{6}\right) \int_{\Omega} g(x)|u_{n}|^{6}dx \\ &= \frac{q-2}{2q} \|u_{n}\|^{2} + \frac{q-4}{4q} \int_{\Omega} l(x)\phi_{u_{n}}u_{n}^{2}dx - \frac{6-q}{6q} \int_{\Omega} g(x)|u_{n}|^{6}dx \\ &= \frac{q-2}{3q} \|u_{n}\|^{2} + \frac{q-4}{12q} \int_{\Omega} l(x)\phi_{u_{n}}u_{n}^{2}dx \leq 0. \end{split}$$

Hence we arrive at a contradiction to that $\alpha_{\lambda} > 0$ (Lemma 2.4 (ii)). Thus we may assume that $\langle \psi'_{\lambda}(u_n), u_n \rangle \to l < 0$. Because $\langle J'_{\lambda}(u_n), u_n \rangle = 0$, we conclude that $\theta_n \to 0$ and, consequently, $J'_{\lambda}(u_n) \to 0$. Using this information we have

$$J_{\lambda}(u_n) \to \beta \in (-\infty, c_{\lambda}] \text{ and } J'_{\lambda}(u_n) \to 0,$$

so by Lemma 2.6, the proof is complete.

Lemma 4.8. Let $\delta, \Lambda_{\delta} > 0$ be as in Lemmas 4.4 and 4.5. Then for $\lambda < \Lambda_{\delta}$, J_{λ} has at least $\operatorname{cat}_{M_{\delta}}(M)$ critical points in $N_{\lambda}^{-}(c_{\lambda})$.

Proof. For $z \in M$, by Lemma 3.3, we can define

$$F(z) = u_{\lambda}^{+} + t_{z}^{-}\omega_{\varepsilon,z} \in N_{\lambda}^{-}(c_{\lambda}).$$

Furthermore, J_{λ} satisfies (PS)-condition on $N_{\lambda}^{-}(c_{\lambda})$. Moreover, it follows from Lemma 4.5 that $\Phi(N_{\lambda}^{-}(c_{\lambda})) \subset M_{\delta}$ for $\lambda < \Lambda_{\delta}$. Define $\xi : [0,1] \times M \to M_{\delta}$ by

$$\xi(\theta, z) = \Phi\left(u_{\lambda}^{+} + t_{z}^{-}\omega_{(1-\theta)\varepsilon, z}\right) \in N_{\lambda}^{-}(c_{\lambda}).$$

Then straightforward calculations provide that $\xi(0, z) = \Phi \circ F(z)$ and $\lim_{\theta \to 1^-} \xi(\theta, z) = z$. Hence $\Phi \circ F$ is homotopic to the inclusion $j: M \to M_{\delta}$. Combining Lemma 4.7 with Propositions 4.1 and 4.2, we obtain that $J_{N_{\lambda}^{-}(c_{\lambda})}$ has at least $\operatorname{cat}_{M_{\delta}}(M)$ critical points in $N_{\lambda}^{-}(c_{\lambda})$. By Lemma 4.6, we know that J_{λ} has at least $\operatorname{cat}_{M_{\delta}}(M)$ critical points in $N_{\lambda}^{-}(c_{\lambda})$.

Proof of Theorem 1.2. By Theorem 2.7 and Lemma 4.8, applying $N_{\lambda}^{+} \bigcap N_{\lambda}^{-} = \emptyset$ and the strong maximum principle, we obtain the statement of Theorem 1.2. \Box

Acknowledgments. This work was supported by the Fundamental Research Funds for the Central Universities (Grant No. 2018QNA35).

References

- A. Azzollini, P. d'Avenia, V. Luisi; Generalized Schrödinger-Poisson type systems, Commun. Pure Appl. Anal., 12(2) (2013).
- [2] V. Benci, D. Fortunato; An eigenvalue problem for the Schrödinger-Maxwell equations, Topol. Methods Nonl. Anal., 11 (1998), 283-293.
- [3] V. Benci, D. Fortunato; Solitary waves of the nonlinear Klein-Gordon equation coupled with Maxwell equations, Rev. Math. Phys., 14 (2002), 409-420.
- [4] R. Benguria, H. Brezis, E. H. Lieb; The Thomas-Fermi-von Weizsäker theory of atoms and moleciles, Comm. Math. Phys. 79 (1981), 167-180.
- [5] S. Cingolani, M. Lazzo; Multiple positive solutions to nonlinear Schrödinger equations with competing potential functions, J. Differential Equations, 160 (2000), 118-138.
- [6] H. Fan; Multiple positive solutions for a critical elliptic problem with concave and convex nonlinearities, Electronic Journal of Differential Equations, 82 (2014), 1-14.
- [7] H. Fan; Multiple positive solutions for semi-linear elliptic systems with sign-changing weight, J. Math. Anal. Appl., 409(1) (2014), 399-408.
- [8] H. Fan; Multiple positive solutions for a critical elliptic system with concave and convex nonlinearities, Nonlinear Anal: R.W.A., 18 (2014), 14-22.
- [9] H. Fan; Existence theorems for a class of edge-degenerate elliptic equations on singular manifolds, Proceedings of the Edinburgh Mathematical Society, 58 (2015), 355-377.
- [10] H. Fan; Multiple positive solutions for a class of Kirchhoff type problems involving critical Sobolev exponents, J. Math. Anal. Appl., 431 (2015), 150-168.
- [11] M. Reed, B. Simon; Methods of Modern Mathematical Physics, Vols. II, IV, Elsevier (Singapore) Pte ltd., 2003.
- [12] X. He, W. Zou; Multiplicity of concentrating positive solutions for Schrödinger-Poisson equations with critical growth, Nonl. Anal., 170 (2018), 142-170.
- [13] L. Huang, E. M. Rocha, J. Chen; Positive and sign-changing solutions of a Schrödinger-Poisson system involving a critical nonlinearity, J. Math. Anal. Appl., 408 (2013), 55-69.
- [14] C. Lei, H. Suo; Positive solutions for a Schrödinger-Poisson system involving concave-convex nonlinearities, Computers and Mathematics with Applications, 74 (2017), 1516-1524.
- [15] E. Li, Y. Li, J. Shi; Existence of positive solutions to Schrödinger-Poisson type systems with critical exponent, Commun. Contemp. Math., 16(6) (2014), 14-36.
- [16] T. Li, T. F. Wu; Multiple positive solutions for a Dirichlet problem involving critical Sobolev exponent, J. Math. Anal. Appl., 369 (2010), 245-257.
- [17] Q. Li, Z. Yang; Multiple positive solutions for a quasilinear elliptic system with critical exponent and sign-changing weight, Computer and Mathematics with Applications, 67(10) (2014), 1848-1863.
- [18] E. H. Lieb; Thomas-Fermi and related theories and molecules, Rev. Modern Phys., 53 (1981), 603-641.
- [19] P. L. Lions; Solutions of Hartree-Fock equations for Coulomb systems, Comm. Math. Phys., 109 (1984), 33-97.
- [20] H. Lin; Positive solutions for nonhomogeneous elliptic equations involving critical Sobolev exponent, Nonlinear Anal., 75 (2012), 2660-2671.
- [21] P. Markowich, C. Ringhofer, C. Schmeiser; Semiconductor Equations, Springer-Verlag, New York, 1990.
- [22] L. Y. Shao, H. B. Chen; Multiple solutions for Schrödinger-Poisson systems with signchanging potential and critical nonlinearity, Electron. J. Differential Equations, 2016 (276) (2016), 1-8.
- [23] J. Sun, S. W. Ma; Ground state solutions for some Schrödinger-Poisson systems with periodic potentials, J. Differential Equations, 260 (2016), 2119-2149.
- [24] M. Willem; *Minimax theorems*, Birkhauser. 1996.
- [25] J. Zhang; On ground state and nodal solutions of Schrödinger-Poisson equations with critical growth, J. Math. Anal. Appl.,428 (2015), 387-404.

Haining Fan

SCHOOL OF SCIENCE, CHINA UNIVERSITY OF MINING AND TECHNOLOGY, XUZHOU 221116, CHINA *Email address:* fanhaining888@163.com